OPAKOVÁNÍ - MATEMATIKA
1. Sečti 
30 000+ 2 560= __________________430 000 + 370 000= ________________
75 825 + 21 500=_________________46 800 + 23 500= ___________________
                             150 000 + 49 000=_______________________
2. Vypočítej 
80 000 – 35 000=___________________    100 000 – 42 000=_____________ 
67 000 – 5 000=______________________820 000 – 15 000=__________________   
                                     999 000 – 99 000= _________________________
       3. Vynásob a vyděl
                               56 . 10 = _____________                 2 900:  10=________________________       
                            300 . 100= __________                  530 000 : 100=______________________
                            285.1000= ___________               1 000 000 : 1 000= ____________________         
                        2 405 . 100=__________________  40 000 : 10 = _________________________
4. Písemně sečti 
              527 468                               89 327                                     46 745                               156 839
                35  472                            121 258                                     46 745                               489 725



5. Písemně odečti 

                        643   241                          39 523                            126 531                                45 032      
                     -    35   178                        - 18 421                         -  115 789                              -  3 899       
            

7. Písemně vyděl, nezapomeň na zkoušku.
            44 265 : 3 =                                                                                          56 398 : 6 =         
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